WZ13-150NSSP + NSSP 1I wAGNER

EER T RURER

H16

of’

v
N = £
‘¢ — I
N T
PRy
H
™ <
© 2 g w
I, I T T
PO D—OD—p— K
o
V
T
™ X
=) W
T
AN
o
x (3
o
& =
I

H12

[C40053A

fIAk - dn - MRS T ERKER T 2ENHYET, 2023.05



WZ13-150NSSP « NSSP I

A
WAGNER

WZ13-150NSSP

POS T B B TEAM ik
1 2112200 |EERST 1 210,000{XMV3.0G30D
2 2112240 |[7SARILE 4 270[5/16UNF X 20
3 2112114 | 3% 4 150/ ¢ 8
4 2112270 |[7ro—Z— L7 1 56,400
5 2104763 |V b 1 1,300|R3/8F
6 2118067 |h 77—/ vk 1 4,400|SUS3/8F
7 2104003 |=v 7L 1 1,100|R3/8
9 2103343 |74— - H 1 2,500
10 2112081 |[RVFyv 7 1 270(3/8
11 2510016 |AAFAT/LR « Bs 1 1,800|R3/8
12 | 2112241 |=7—#k&F—A 1 4,600(3/8 X 380
13 | 2240002 |HR—ANRUK 25 1 730[17 ~ 25
14 | 2112242 |HEh=7—fEdEE - 1T 1 11,700
15 | 2104262 |BARFB—AT 40T 40 1 2,400{G3/8M X R1/4M
16 | 2104962 [ANJ—k= /LR SUS 1 5,600|R1/2
17 | 2112243 |E=v 7/ + BS 1 7,600/G3/4M X R3/8 X 115
18 | 2112151 [0V 1 150{14.00 X 1.78
19 | 2150010 |[F7A AR —F— 1 3,200(3/4
20 | 2112086 |RUFyv~ 1 270
21 2115555 [[EJJEF - SLiAF 1 13,400( ¢ 63-30MPa
22 | 2104622 |FAARTILR 1 2,400|R1/4
24 | 2104623 |FAARTILR 1 5,400|R3/8
25 | 2103483 |Rh—RA=v 7L 1 2,300|/R/3/8 X ¢ 10.5
26 | 2112244 |[AA/LKRLoR—RA 1 1,100[10 X 12 X 220
27 | 2112088 |R—=AZVy7 1 270 ¢ 12.5
28 | 2112245 |RYwrFa—7 1 400[ST-13 X 150
35 9904409 |NANSTT T 1 500|R1/2
36 | 2112082 |UX—r=v7 )L « Bs 1 4,200(G3/8M X R3/8M X 100
37 | 2112249 ST FS5S 1 5,900|R1/4F
38 2112250 |8/ 1 400({15 X 11 X 2
39 | 2112251 |V4& vk 1 6,100

Ik -

T - P = AN AL (e IR /Y o/ S B

2

[LC40053A-1

2023.05




WZ13-150NSSP + NSSP 1I wAGNER

WZ13-150NSSP II

POS T B S TEAM ik
1 2112200 |@EERL T 1 210,000{XMV3.0G30D

2 2112240 /SRR 4 270(5/16UNF X 20
3 2112114 |IM 3% 4 150/ ¢ 8

4 2112270 |[7ra—&—/317 1 56,400

5 2104763 [V~ b 1 1,300|R3/8F

6 2118067 |H7Z7—/ vk 1 4,400|SUS3/8F

7 2104003 |=v 7L 1 1,100|R3/8

9 2103343 |[7+4— - H 1 2,500

10 | 2112081 |RVFpw~ 1 270(3/8

11 | 2510016 |[AAFAT/LAR - Bs 1 1,800|R3/8

12 | 2112259 |=7 —KEHR—A 1 8,700[3/8 X 369

13 | 2240022 |AR—AK 220 1 740[13 ~ 22

14 | 2112260 |H#)=7 —pe=dLiE 54 1 12,500

15 | 2104202 | R—AT7 4747 1 760|G1/4M X R1/4M
16 | 2104962 |[AR)—R=/L7R SUS 1 5,600|R1/2

17 | 2112262 |[E=v7 /L 1 8,300|BS * G3/4 X R1/2
18 | 2112151 [0V 1 150/14.00 X 1.78

19 | 2150010 |ZA>ARL—F— 1 3,200(3/4

20 | 2112086 |RUFx¥>~7 1 270

21 | 2115555 |[EJ1al « SCiA A~ 1 13,400( ¢ 63-30MPa

22 | 2104622 |[FAAATILIR 1 2,400|R1/4

24 | 2104623 |[AAAATILR 1 5,400|R3/8

25 | 2103483 |[h—A=w 7L 1 2,300|R/3/8 X ¢ 10.5
26 | 2112261 |AA/NKRLHR—A 1 1,300

27 | 2112088 |[R—AZYwT 2 270 ¢ 12.5

28 | 2112245 | AU hFa—7 1 400[ST-13 X 150

35 | 9904409 (/SRS TT 1 500|R1/2

36 | 2112082 |[UX—1=w7 )L « Bs 1 4,200{G3/8M X R3/8M X 100
37 | 2112249 [T TF5S 1 5,900|R1/4F

38 2112250 |8/ 1 400[15 X 11 X 2

39 | 2112251 |V4whk 1 6,100

40 | 9903019 |/SFIAFIED AL 1 340[M6 X 12

41 | 2104462 IS8T MFART X7 H— 1 2,000|G1/4F X R1/4F

LC40053A-2

3
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.05



A

WAGNER

WZ13-150NSSP « NSSP I

7 [XMV3.0G 30D](PN 2112200)

o
\

=7

IC40036A

4

2023.05

G B v AN AL e AR /Y 2L S I

=]
SRS

Ik -



WZ13-150NSSP « NSSP I

A
WAGNER

WZ13-150NSSP « NSSP 1II #t:15

POS ES RE4 s E A M+
1 2112109 [0V 06 150(17.86 X 2.62
2 2112201 |»N\VT7 750 6 5,400
3 2112124 |7V 7R O6 2,000
4 2112125 [0V O6 150{15.54 X 2.62
5 2112202 |75 1 650
6 2112203 YR —KJ o [ 350
7 2112204 |@ET—v @3 4,900
8 2112205 |2 —UF1F— 3 2,600
9 2112206 |72 0/r—A 1 60,700
10 | 2112132 |= KA 83— 1 1,800
11 | 2112133 |2 F w7V 1 650
12 | 2112207 |AF 7Y 1 270
13 | 2112208 |~_7Vr o 1 10,600
14 | 2112209 |[TA4v T AT 407 1 3,100
15 | 2112210 |7 I0 V% —HARE 3 910
16 | 2112211 |[OV>2 1 650 ¢ 106 X 3
17 | 9900325 |/ 5fFARLb 6 180|M6 X 16
18 | 2112212 (7T 0 /r—AH/"— 1 10,100
19 | 2112213 |=rmyR 3 12,800
20 | 2112214 |77 P —HAR 3 8,300
21 | 2112141 [0V 03 150[4.48 X 1.78
22 | 2112142 | AU H =V 03 270
23 | 2112215 |FoP%— 03 14,000
24 | 2112023 |Uviy— 03 270[8 X 13 X 0.5
25 | 2112022 | 7T Pv—F b 3 650
27 | 2112151 OV 3 150{14.00 X 1.78
28 | 2112216 |75 3 780|3/8
30 | 2112131 |A AN —b 3 1,500[15 X 24 X 5
31 | 2112217 |7 —>— )T ) — 3 1,700
32 | 2112218 oV @3 150(23.52 X 1.78
33 | 2112219 [{&JET— [ B 1,500
34 | 2112220 |52 1 1,800|1/2
35 | 2112154 [0V Y 1 270[17.5 X 2.00
36 | 2112221 |Ro T ~wR 1 72,300
37 | 2112222 |Dosp— 8 270
38 | 2112121 [/SASSFRLE 8 780|M6 X 60
40 | 2112158 |=—FA~_T7U 2 1 7,600
41 | 2112162 |[AF > TV 1 2,700
42 | 2112156 |A AL —)L 1 2,700[40 X 50 X 7
44 | 2112223 |[NFAFRVE 4 150
67 | 2112224 |NfA7AFIED AL 1 270
69 | 2112225 |7F 7L %7k 1 79,100
70 | 2112226 (750 1 15,300
71 | 2112032 |AANY AT TA 1 650
72 | 2112031 [RFANILS 1 400
73 | 2112227 [AANYARTTA - /) 1 270
74 | 2112146 OV 1 270|20.24 X 2.62

2112901 |77k O 7,400[Pos.1,3,4 (£ 6 77 AD)
2112921 | —/L¥% vk [ ] 11,600[P0s.6,7,32,33 (£ 3 77 AV)
2112941 | 7’72 V¥ wh O 26,900(Pos. 21,22,23,24 (45 3 77 AD)

fIAk - dn - MRS T ERKER T 2ENHYET,

5

LC40036B
2023.05



W2Z13-150NSSP » NSSP 1I wAcnER

7oAa—45—/\)L7J (PN 2112270)
WZ13-150NSSP « NSSP 1I #3568

6 1C40027A
(R L (TR =P AN AL U IR /N U/ 3 2023.05



WZ13-150NSSP « NSSP I

A
WAGNER

POS RS Ea M= TEAM ik

1 2112271 |79 1 400

2 9900318 |/SHIXAFR LR 1 360[M8 X 20

3 2112272 |[NAFT vk 1 150|M8

4 2112273 [FR#& /7 1 910

5 2112274 |7 1 650

6 2112275 [F%ET K 1 16,400

7 2112276 (AU 27 HAR 1 14,700

8 2112277 | ATV T T L—h 1 5,800

9 2112278 |[E IR TV 7 1 2,000

10 | 2112279 |AFTARS —h 1 1,300

11 2112280 |E° O1 1,600

12 | 2112281 |7v/R—E &by O1 7,500

13 | 2112282 |0V O1 150

14 | 2112283 |\ o 7wV O1 270

15 | 2112284 |0V 1 270

16 | 2112285 |Fx=vr/3L7 1 3,500

17 | 2112286 |FxvZ VT RATYL T 1 780

18 | 2112154 |0V 1 270[17.5 X 2.00

19 | 2112287 |7UhLwbhTT7 1 4,300

20 | 2112288 | — Lol 1 910

21 | 2112289 |7 ART ¢ 1 17,700

22 | 2112290 | N r 7wV 02 520

23 | 2112141 |0V 2 150(4.48 X 1.78

24 | 2112291 [ —/Lo8w%s 1 2,300

25 | 2112292 [m—U—E Rk 1 12,500

26 | 2112197 |0 VU2 01 150(17.17 X 1.78

27 | 2112293 |»NL7 v —h 01 8,300

35 | 2112294 M7 4T 1 5,200
2112960 |77/ X—E ARk O 5,800(Pos.11,12,13,14 (% 1 7 AD)
2112970 |F=v /37 F b [ 3,000|Pos.15,16,17,18 (£ 1 7 AD)
2112980 |[m—T—E AR F vk O 14,300|Pos.22,23,25,26,27 (22,23 1345 2

NS SR PND)

Ik -

T - P = AN AL (e IR /Y o/ S B

7

LC40027B

2023.05



W2Z13-150NSSP » NSSP 1I wAcnER

% - RKYAL27R—A (G3/4 - PN 2116160)
WZ13-150NSSP « NSSP 1I #3568

ID40002B
POS 2 in4h T TEAM ik
1 2116160 |W/KAR—A 1 14,700|G3/4 X 3m « O U7 fF
2 2116023 (O V7 (1) 270(P16 - G3/4
3 2116151 |HAF—A 1 5,900{G3/8 X 3m » O Y7 fF
4 2116022 (O U7 (1) 270[1A - 6 X 3
5 2116320 (AL —F— - [ 1 4,200|G3/4F
.D40006B-2

8
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.05




